M & 0 & AF Y E A A
20128 20& ZEEH=MHelAlEd 22| SESH M
A ot==1t
M otk 2
chel: HII2HM (2 HS-MIA S22 SE3IAH) (ctel: &
SN C(BH) - NRAY - HES O] &k o8 Soe HlmE2
of==1t 2,615,000 3,761,171 21,146,171
ot=& 2l 2,615,000 3,761,171 A1,146,171
HIOI2XM2(2EH M2 A2 SE 3 AH) 2,615,000 3,761,171 21,146,171
H=Xcl&d 2% 2,615,000 2,862,927 N2A4T 927
201 B2 HH| 455,101 618,940 A 163,839
02 2==2gHl 455,101 618,940 A 163,839
O H=HMel& dIIe= 396,480
O HEE+8IHE MIIea 4,200
O H=Hel&E 423 29,400
O H=aHMel&d MHSH 2422l 12,000
O H=Hdcl& 4=dd & . wdd| 4,000
O Ha=Mel& =& IMSEZZAM =2 4,000
O HEE +HIE AIZR Al 5,021
202 0dl 4,920 4,920 0
01 2L bI 4,920 4,920 0
O Ha-Mel&d 28 A8 & A3 3,000
O H=HMcl& 8= sHAI 1,920
307 2Iz2tol A 1,849,865 1,789,865 60,000
05 RIZHRE S 1,849,865 1,789,865 60,000
O H=HXMel& LI2E = 1,849,865
401 A& HIZ 201 263,304 449,202 A 185,898
01 A& HI 261,000 446,000 A 185,000
O RHH+BLH2AZ SIZAHOLH DA
S Al 175,000
O ZZH=SLXcIE SES2ZAIItHet =
S At 30,000
O ZHH=SLXMeIE At DA =3 At 56,000
03 A& = 01| 2,304 3,202 A 898
O ZHH=3ZHMelE SEZAMH Ul uX
2 2,304
405 KHaHE S| 41,810 0 41,810
01 ARt 2 ZFH S| 41,810 0 41,810
O 8E4M42H 2 5,300,000 *2CH 10,600
O =3U==<1A 3,640,000 ~4CH 14,560
O ds=EAH 5,550,000& «3CH 16,650




